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Candidates are required to give their answers in
their own words as far as practicable.

The figures in the margin indicate full marks.
Answer from both the Groups as directed.
Group -A
(Compulsory)

1. Answer all questions of the following :1x10 = 10

(a) The value of r(-%) is

~(b) Write the value of 2:=0Pk(xj.
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(d) Theseries}1-+1+x*x T 08

power'series or not 7
) |ff(x)-x —n<x<nthen in its series the
oo-eﬂ‘iaentb et
() The Hermite potynommlH (X) = —————
@ The Laguerre polynomial L (0) = ————
(h) The vale of B(2, 3)=
() Forthe Bessel's equation the regular
singular point is at
() The Legendre’s polynomial Po(x) =

2 What are Ordinary and Singular points ? Explain .

in brief. S
OR
What are Dirichlet conditions ?
Group-B
Answer any three questions of the following :
15%x3 =45

3. Find the series general solution of the differential
equation :

5 b xz) n(n+1)y=o

‘ MO'- 93/1 : (2) s

Find the series solution of the differential
equation : ’
zdzy x4 @-n 9y=0

dx

dx?
Represent the function f(x) = x, -n <x <min the

form of Fourier series, and show that :

1
T
7
Define Gamma and Beta functions and show
that :

_ I(m) I'(n)
B(m, n) = T(m+n)’

What is Laplaoe’s equation ? Find its solution in

spherical polar coordinate system.
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